Logic System Assignment 2

A simple CAD tool based on Petrick’s
Method

1. Description
This assignment is based on the previous assignment.
In this homework, you will use Petrick’s method to improve
your first homework.
2. Requirement
I. Read the input file
Your program will read the input file for the minterm
information, not including don’t care terms.
The format of the input information will be shown in the
rest of this document.
I1. Compare the adjacent groups and combine them just like
the previous homework.
I11. Use Petricks’s method to find all possible results of the
minimum SOP,

V. Write the output file



The output file should contain these information:
* Minterm function after combing adjacent groups
» The process of Petrick’s method
» The final result of Petrick’s method
The format of the output information will be shown in
the rest of this document.
3. Input/Output Specification
I. You can finish your program in C, C++ or Java.

I1. The following is the input format:

" input.txt - E=F 0 - | =
B=EF) |EE B/I(O) wBENV) =HH)
k]

0,1,29,5,6,? (3]

O File name
Name: input.txt ( Your program should be able to read

this file with this name.)



® Variable number
Range: 2~4 (NOT THE NUMBER OF MINTERMS)
For example: ab - 2 ; abc = 3 ; abcd - 4
® Minterm Value
If @ equals 2, minterm value ranges from 0 to 3
If @ equals 4, minterm value ranges from 0 to 15

I11. The following is the output format:

7 outputtxt - REE o — | =
BEFR SEE BI(0) wmEN =EH)
Original Result: ~

FILEC)  =a'h! +a'c" + b'c + be' + ac + ah 9

= PIP4FL + PIPZPSPG + PUP3P4APS + PIP3P4APG + PEP3PG

Final Result: @
FP1FP4F5:

Fi&4,E,Ch= a'b" + bc' + ac
FP2P3F6:

F(4,B,Ci=a'c' + b'c + abl




O File name

Name: output.txt (DO NOT change the file name.)

® Minterm function after combing adjacent groups
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® The process of Petrick’s method

You can show the detail of simplification for bonus.

For example:

— (P1+P2)(P1+P3)(P2+P4)(P3+P5)(P4+P6)(P5+P6)

= (P1+P2P3) (P2+P4)(P3+P5)(P4+P6)(P5+P6)

O The final result of Petrick’s method

Please show all possible results which are minimum Sum

of Product.



